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= /(2 +3x)(x2+3x+2)+1

= /(32 +3x)2+2(x2+3x)+1

= /{(x®> +3x) + 1}2
=x2+3x+1(- (x> +3x)+1>0)
=212+3-21+1=505

7242 229 4254 0+5=10




ab -1

at—a?

13. a(a+1)=1¢ ), o] & kit

Ch
[=

>
|> o= 4

oHd

B

a®-1 (a®*+1)(a*-1)

ad—a a*(a®-1)
_(a+1)(@®-a+1)(a-1)(a*+a+1)
N a?(a+1)(a-1)

2 _ 2
(a a+1)(2a +a+1) Ca=1-at9
a
2 —
:M:z}
l1-a




14. A%‘BE L]'—l— % L.I-Eﬂ ] Rﬂ-é}._]_ Q pozg q__l‘z_%
. i}

©
i
=
L

0. JeAE R ole ik AR BB ©& U Uz]? (9
)

FENE

@R+R’B @ R +RB ® RR’
@ R ® R

B

Fol1 272 o2 Uehiw

Q=BQ +R - ©
O= O°f tidstd
A=B(BQ +R)+R
= (BB')Q' + (R+ R'B)
R+R'B7t AS BB = tw U7} 57] §1si-= R+ R'B <
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& A (@ + b + ¢)(ab + bc + ca) — abe &) 157} obd A2

® a+b @ b+c ® c+a
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AN aofl Wi WAz o= A 2|5t
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—-a*(b - c) - b*(c

ol B 4 gl AL

@a+b @ 2a-2b
@ 2b-2c ® 0

® 2b-2a

a°l it Wdzte o= Aot
—-a?(b-c)-b*(c—a)—c*(a-b)

—b)a® - (c? = b?)a + bc? — b2c
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(x = 1)(x+ Dh(x) =, (x - 1)g(x)

i ©




28.
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@ x>+5x+6 ® x*+2x-3

A, BO] HjFey= x4+ 1 0|BR

A=a(x+1), B=b(x+1)

B, Co HUFFrE x-29°
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